290G BN

BRARZ AR

SFWmYIOVR-JILIHE

A=t FR0F0FAHS
/ TP&EIE R 29 4 10 A 5 H(K) *
flm(ib = iﬁ lLA‘EJiGGi% 32 h—JL 5‘4’(’%/#_5_( ,\nh\;E >
SMEHR 2124 . h— M/'j/%'\zs;ﬂz 176 %
[[EXivd E £ = i —7EVIZKYRE  I5ER—ILEY
1 =@ = FEE 237 | 137] 287 KA+ || IEGRE =7 NiEEH 554
=1 0y 72 i) — =
e A RE L e P e T SO
S emE MEke s o e Secoe o1 2 1o a0
*
4 |E)IEER| 98557 =T T3l 98 53 [#)l & [WES TREBED 49
5 &l BNFI & i & 71| 2 54 | &) Rk | 180O%HGGD57| 81 | 2 :
6 |ILK 2F|21 & 15] 96 AEET| KEHST 9 [ 47
7| EE ﬁ?z B = 72 4 10] 05 | *° | A 241;‘;))77 81 | 1 144 46
= g Q= 57
8 |mee =7 |21 % ;g g 10 94 AR BE Bk gi 1 14| 46
9 | M Xt | AR =T 16| 93 EE H— | k2 2l 13 44
10 | &) Bl | #0skoas57 18 92 CMETAEY £ 13 44
*GG’b? 74 | 2 |15 = 81 | 1|12
11 B = |3k = 74 | 2 14| 90 L %’ ;43;( = 81 | 1|12| 42
=< 4n] — 7 ==
3 [LeREr] oo s 3‘5‘ 2 14 90 || 62 | &S+ K|+ ==7; 21 L 12y o2
14 | =8 %F |18 — 3|11 88 63 | =i ¥7) = 0 18| 39
BDFHGGHZT| 75 3109 L FAR |21 = 81 0 17
#  BhE | KEHST 87 64 | Bk BB | BOBZGGHST 38
R 2= | ABE2 75 2 18] 86 | 65 [ A& ¥ |ckcrs A
15 ~ E= * = 75 2 1 ! ICClccho7 82 2 9
BA BE | TR = 3| 86 ZH A |2 B2 = 36
#O B | WE 2 2]13| 86 || 66 [m mx|tm= 2/8] 3
o [# Bz [2ma ;g 2 |13 86 58 55 | B 2 g; ; 8| 35
20 [HHOT [ Rk & = 1 12 82 |[ 69 [2m ER|[KBES TR 3 35
21 | BigEA [ 180FKGGIFT| 76 | 3 81 || 70 |EHANAMTF [BME S 82 | 1 =
22 | =@ g =~ 9 80 A EB N 13 31
; LK £ 76 | 3| 8 - 71 _ Tl | BE O£ 82 1111 3
23 [/MNE)I % [180 57 9 tiE & |[— /2 0
BEMFZGGHSS| 76 | 2 | 15 Z \N& 82 | 111
24 | BN S| W E S 78 || 73 |#LfEER| 83 Kk = 30
A = 76 | 2 12| 77 — . N = 82 | 0]16]| 28
;S =@ AT | % E2 T ;g ;2 Jb#t #mk | 18o&GaHST| 83 [ 1[14 ;Z
wmA FEZ | KEDST Nk B — N4
28 | IEE & |8 EIJZ? 77 | 2 |12 74 mr R X 55\ = 83 | 1 13| 25
# |BHK= 77 1 0 | 21 77 IKEEDST 83 | 112
20 | A BB [ WES 73 MIBEY = N & 24
30 IKEEDST 78 | 1|15 . £ AE= 83 | 1|11
32 ,EEE W |BHKk= 78 mETARET P& fEa (::(::’757" 83 T
33 | K3t BF | W=E S 114| 69 =8 w5 | g B 111 22
— = 78 | 0 [19 82 & 83 [ 110
M | BAEEF|IAESR 79 68 AE @ | A 83 19
35 | M@ —5 | 24557 21| &7 |8 e Ba | ama 1]10] 19
36 | hRESF|— I\ 2 =9 85 Hit = | KE 83
EE NE |2 B2 o 1/15] 65 L% 2% | coicoh5T | 83 0]16]| 16
37 | FHEAN | B = 1]14) 64 TEH AE |21 2 0 16| 16
2 S0 & 79 1114 64 87 12 Y= 1 = 33 0115 12
I TERE | &8B#D5T | 19 Bl FX | 24957 83
40 R A |TE & =5 114] 64 89 |FIR M. |BE = 34 0 15} 14
KE BE | (C2ZThsd [ 79 8 181 6l 90 |[J\s 1§ | KEEDST 84 ; T
22 |#8% 2% | 98557 18] 61 |[ 01 | A BIF [— X 2 8| 11
== 8957 79 | 017 59 = AR 84 | 1 13| 10
NE EF |AES I Bk | KD
43 80 2110] 58 || 2 [% X = 84 [ 1[12] 10
B ®R |&#EI57 80 MR ER| B0HxceHI7| 84
% [5m @t [— a2 2 (10 58 |oa Trm & [0857 AT
plrnmi|-xa falile]l 56 foslarmylige 84 | 1 111 10
47 | =@ H— | @ — 80 | 1 |15] 55 % | AE % | + & f. 84 | 1 10f 10
SD#FZGGHZJ| 80 | 1 |13| 54 = 84 | 119 10
HINEAS | KB = 80 97 | BNl & | KEEDST 84 | 0
48 |/NE BLF |2 E 2 T 1]12| 53 98 | A #3 |SEhHHIT | 84 o
541 IEsh [ W E £ 50 1 12| 53 99 |/NE AF | KEHFT ” 8 14 10
RI7H—F AR 12] 53 | % |8 =5 131 10
R RAVFERBE 1 % | BOFZGGHST| 85 | 1
T#HEE ﬁm¢.i Lo i02%) 100 | mEE M | o=cHe oo 12| 10
24TH  BLERE BEERE 1 H# Ak BR ("(“';:‘ / RETIT:
e I e e -
GCIAL /i TL . O#IL- <MGGA/$JT’%}%>



